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Geometry H

Section 6.5-6.7 Quiz Review
Please determine if any pairs of triangles are similar. If so, write a similarity statement. Show all
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For exercises #2 — 5, determine whether the two triangles are similar. If they are similar, write a

similarity statement and state the reason why
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6. Find the value of the variables that make AABC ~ADEF .
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7. In ARST, RS =20, ST =32,and m£S =24°.In AFGH, FG =30, GH =48, and

mZLG = 24°. Explain whether the two triangles can be similar. If so, write a similarity statement

and state the reason why.

8. Given the diagram shown and LM I PQ, complete the following statements.

a. MZLNQP = ) [ A Mo
b. mZNPQ = ) : ]
c. MZPNQ =

d RN = B R
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f. PR=

Using the diagrams below, please solve for x.
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15. AGHI has vertices G(0,5), H(4,2), and 1(3,3). What are the vertices after the dilation with

a scale factor of 9 using the origin as the center of dilation?

16. AABC has vertices A(0,20), B(16,24), and C(12,12). What are the vertices after the

dilation with a scale factor of % using the origin as the center of dilation?

Determine whether the dilation from Figure A to Figure B is a reduction or an enlargement. State the

scale factor.
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19. You want to create a quadrilateral PQRS that is similar to quadrilateral JKLM. What are the

coordinates of S?

20. Given the image and the pre-image, determine the

scale factor.
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21. In AABC, the coordinates are A(2,6), B(8,7),and C(4,4). Dilate AABC by a scale factor of

2 using (8,2) as the center of dilation.
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Answer Key :
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AABC ~AJKL by SSS Similarity
AMLV ~ATUV by SAS Similarity
AFGH ~ACBA by SSS Similarity
Not Similar

AGCD ~AFCE by SAS Similarity
a.x=11 b.x=10,y=5

ARST ~AFGH by SAS Similarity

.a.53° ,b.45° ,c.82° ,d.24,e.30,f.24

x=4

X=%,x=4

x=-1,x=8

Xx=5

x=-3,x=4

x=-1,x=6

G'(0,45), H'(36,18), 1'(27,27)
A'(0,15), B'(12,18), C'(9,9)
Enlargement, Scale factor : 3
Reduction, Scale factor : l
S(—2,-4)

1

k:
2

A'(-4,10), B'(8,12), C'(0,6)



